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6.34=6+0.3+0.04

9.31 = |+ |+ |
@9,0.3,0.01 @ 9,3,1 ® 9,0.3,0.1
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(1) 0.35 = 0.01 ©] [ ]7Heo]x, 0.11 2 0.01 o] [ |7AQUIe}.
(2) 0.35+0.11 & AupdY7}?

@ (1) 3.5,1.1 (2) 0.46 @ (1) 3.5,11 (2) 0.46
® (1) 35,1.1 (2) 0.46 @(1) 35,11 (2) 0.46
® (1) 350,110 (2) 0.46

(1) 0.35 & 0.01 ©] 35 7io] 1,
0.11 = 0.01 ©] 11 7Ro|ct.
(2) 0.35 4 0.11 = 0.46




(1) 0.88-0.78 (2) 0.61-0.18

@ (1) 0.11 (2) 0.33 @ (1) 0.9 (2) 0.43
® (1) 0.9 (2) 0.33 @ (1) 0.1(2) 0.33
@) 01 (2) 043

(1) 0.88—0.78 = 0.1
(2) 0.61 —0.18 = 0.43
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@ 3.82, 3.821 ® 3.818, 3.82
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D 0.65, 1.45 @ 0.7, 1.45 ® 0.7, 1.5

@ 0.75, 1.45 @0.75, 1.5

0.25 ¥4 solgUyth.
ARAA[ ]=1-025=0.75

=dlA [ ]=125+4025=15




(1) 5.249 - 3.56 (2) 5.453 — 2.72

@ (1) 1.689 (2) 1.731 @(1) 1.689 (2) 2.733
® (1) 2.683 (2) 2.731 @ (1) 2.689 (2) 2.733

® (1) 2.689 (2) 1.733

(1) 5.249 — 3.56 = 1.689
(2) 5.453 — 2.72 = 2.733
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